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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
were fraIcad ot SpiiR Tes fora

(a) The concept of ‘real cost terms of
trade’ was developed by

(i) Sidney Alexander
(ii) C. P. Kindleberger
(iii) Jacob Viner
( Choose the correct one )
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(2)

‘pe I AW TSB! TH (T
AR TeEm Faf=e ?

(i) Sidney Alexander
(i) C. P. Kindleberger

(iii) Jacob Viner

(yacht Mo Sfered )

(b) Heckscher-Ohlin model assumes the
(i) increasing returns to scale
(i) dirhinishing returns to scale
(iii) constant returns to scale

( Choose the correct one )

@IR- forea SRR 9ol SfeqEe 275
(i) TR Afone [id
(i) TP 2w &

(i) TR eifor RR
( =edl Ao Sfevea )

e | f Continued)

(c)

(d)

(e)

(9)

A7/343

(3)

What, according to Ricardo, was the
basis for international trade?

R oo wEsies AfeR fofe 52

What is tariff?

w% 2

Single factoral terms of trade (T) =
__ x Export productivity index (Z ).
( Fill in the blank )
4TS T MY S (Ty) = x
A TATH BT (Z ) |
(<1ET 91 *F9 41 )

Define offer curve.

'F[ IGq & 7w |

If K, and L, denote capital and
labour in country A and Ky and Lg
denote capital and labour in country
£ L Kg . :
Band if £ > —£ | identify the capital
a Ka
rich country.

( Turn Over)



(4) (&

3. Answer any three of the following
AIF
i K, 9% L,, A CTR TEA SE

B o A questions : 5x3=15
WWWKBWLBI’J K, wers fia eeaa R e foRiem Teg o -
B q,
Wmﬁtﬂw,‘lﬁ_};>mﬁ .
(a) Explain the limitations of Ricardian
(STR'TA (I (T AT e, o theory of international trade.
|
e Reen TesfeT A g MO
y ¥ IR0
2. Answer the following questions : 2148
wre i 2eIeard e fort s (b) Explain Leontief paradox.
(@) What is meant by factor-intensity feRmIoEFa SFCe! 0 <41 |
reversal?
T TRATPI ﬁ‘ﬁt@ﬁw &2 (c) Show the relationship between the
elasticity of offer curve (9 and
(h) What is the elasticity of offer curve? optimum tariff (T,).
wFE 9 fEforrel 2 WFR ¢ fHfogrme @ e W uw

(T,) 3 TR 94 (ryedl |
(c) What do you understand by f.0.b. and

s S hy . o)
c.if. in international trade account: (d) Elaborate the concept of ‘comparative
wEsfes qfdss Bee f.o.b. w® c.i.f—3 cost advantage’ with a suitable
wef B9 numerical example.
. <1 TR AT Trrzzer STeEe e
. e . ional
(d) What is gains from internation T R A=A Reswet w41 |
trade?
W‘@‘WW&%&TW%? A7/343 {TumOver)
1242 ( Contirued!
\ =4



L e B o A P

(6)

(e) Discuss the role of international trade
as an engine of economic growth.

EEfes e S RerE <6 T8
1 = | SE 90

. Answer any three of the following

questions : 10x3=30

7o Tl 2pICae & G foFbm Ted o7 -

(a) Discuss various concepts of terms of
trade.
ey 564 oA GRACIR ST P4 |

(b) Analyze the effects of import quotas
under partial equilibrium analysis.
arfe ST Regee  emmie AR
e 2o oL T I |

(c) Explain the modern theory of

international trade.
SEEfee AMaEd S ogeeT T T |

(d) Explain clearly -the classification of
tariffs on the basis of criterion and
purpose for imposition.

@R Qe e SR fefee  wEe
cRRereE =eEed I 4 |

It Cnntinued

(7))

(e) Distinguish between tariffs and
quotas. Which of the two is superior
and why?

W% e AR FfReR aeR o o=
W% o ARme FdfRer foote @G Tre
o 592

(f) Argue the case for free trade in the
context of present global scenario.

Areefes e R ~tehe Te ifdas
Sefcs e |

* k A
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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
oS e fiots Pt Teq fi

(a) According to physiocrats, net product
can only be generated in agriculture.

( Write whether the statement
is True or False)

AP O, WY Teofww wFA A

CFaoCR B8 2 |
( Sf o wa (o1 orym @)
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(3)
(.2)

(f/ The Communist Manifesto came out in
(b)) David Ricardo’s famous book, The the year
Principles of Political Economy and

3 . i - i) o
Taxation was published in the year Communist Manifesto™s TR =

(Fill in the blank) TR R
David Ricardo-3 f2ms =®,The Principles (i) 1848
of Political Economy and Taxation Siab
5o SIS CRf%e |
(Qﬂﬁ IS [ 1) (i) 1868
Sy
(c) Who is the author of the book, Inquiry (iii) 1857
into Nature and Causes of the Wealth of
Nations? SveAq
Inquiry into Nature and Causes of the (i) None of the above

i el CCTRF (FI ?
Wealth of Nations =Hq Zg3=q 7] OIS T2

( Choose the correct answer )

(m Tech! AIfR Tferea )

(d) What is mercantilism?

ArieEam 2

(g) J. S. Mill was influenced by the French
Revolution.

( Write whether the statement
is True or False)

(e) Francois Quesnay (1694-1744) is
considered the leader of the physiocrats.

( Write Yes or No)

Francois Quesnay (Su58-5988)-F J. S. Mill T3t [ea == 2reifde oz |
AT 01 e 41 23 | ( Sfech W 1 Srym o)
(= 1 =m ferdn )
A7/344 ( Turn Over

|



(4) (S)

2. Answer the following questions in brief : 2x4=8 3. Answer any three of the following questions :

5x3=15
S 2RI TR B 1 T AT R e fofer Se fore -

(@) What, according to Karl Marx, are

) (@) Examine the. causes that gave rise to
the three methods of creating surplus

physiocracy.’

yaes PRI TR SR FRFCIR A 41 |
Karl Marx-3 co g8 %1 Jjfeq fofor ~mafe
fefer (b) Write a short note on J. S. Mill’s views on
profit.
(b) What are Adam Smith’s ‘naturalism’ and PRI o J. S. Mill-3 E@G‘{%ﬂ?{ SATS B
‘optimism’™? 2 ot ot o
Adam Smith-3 ‘“FOrgeIR F SR
&9 (c) Explain Say’s law of markets.
Say-3 3% RfACE! <0 41 |
() Mention two points of distinction
between mercantilism and physiocracy. (d) Write, in brief, about Ricardo’s views on
wages.
TR S 2RI e 51 i S TGR FF Ricardo-4 BN €7 {e ST
Ll , ferr |
(d) What, according to J. S. Mill, is a (€) Explain the Malthusian theory of
stationary state? population.
. Malthus- %
J. S. Mill4 70 G wqa’ 7 thus-3 T30 SGCH! A1 41 |

A7/344 ( Turn Over )
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(6)

4. Answer any three of the following questions :
: 10x3=30

I AR [ e fefem Tew for -

{aj Examine the conditions that gave rise to
mercantilism. State the main grounds of

objection against mercantilism. 5+5=10
TREAME TR SRE PeEE AArsl 40|
AERATE REca ol Sfeanicane fofe 59

(b) Make an account of the main economic
theories of Karl Marx. 10
Karl Marx-3 449 9fafos og@@e s*qs
951 217 wf® 1 |

(c) Examine the Malthusian theory of gluts. 10
Malthus-3 SR TgC6! “RI 1 |

(d) Examine Adam Smith’s views on the
following : 5+5=10

TS IR @7q@ Adam Smith-3 pige:
[l 41 -

(i) Divisi;)n of labour
N Rerem

(i) Theory of value
el O

A7/344 ( Continued

] A7—5000/344

(7))

(e) Critically examine the contribution of
physiocrats to the economic theory and
practice.

GAes g ¢ A (Fqe gy
TR FCATINTeE A= F4 |

(/ Analyze David Ricardo’s views on foreign
trade.

(e A9SE @*"® David Ricardo-3
TSN ~RCErsT 4 |

10

10
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for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
et fra epeiRs Teq forel
(a) What was the sex ratio of India according
to 2011 Census?
303 59 e Yoo SResdd el SEpre R
e 2

(b) Define density of population.
T TeTed e i |

(0 Write one main cause of disguised
unemployment in India.

eI 20E TFHRTOR BT Y3 PRt R |
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(2)

(d) Point out one important objective of land

(e)

Uj]

(9)

2. Answer the following questions :

reforms in India.
SRR PR FR @B T S gl
o |

What do you mean by relative poverty?
e wiReer Jfece & 3o 2

Write the concéf;t of food security.

W I YIRECOT o o

Define medium enterprises.

TEea SomeR A wa |
2%x4=8

wore Tl PR Teq o

(a)

(b)

(c)

(@)

A7/345

What is death rate? What was the death
rate of India according to 2011 Census?

TO-TF fF? K053 &R Fgel 0@ SREq T9r-
Tq P wifRe 2

Write two important causes of educated
unemployment in India.

SR FifFFe e o1 e TR forat |

Point out two negative impacts of green
revolution in Indian agriculture.

e Y ow Raww P 4awe  doW
Sl fmm |

Mention any two important problems
faced by micro-enterprises in our country.

SR (TS S T Trret R @[ R @
71 24T ST Srary <6 |

( Continué

d)

A7/345

(3)

3. Answer any three of the following questions :
5x3=15

wers faan R cieen fofeibt e Teg forar -

(a) Write briefly five basic features of Indian

economy.

sHe ST “Aoh1 chfere ¢afRer vt for |

Suggest five measures to check the rapid

growth of population in India.

SREY SRR Ifa @RE I 061 TIE o[,

H19_CeEl |

(c) Discuss the major limitations of public

distribution system in India.

SO IER R RN 10 Ao

SIS 4T |

Explain five causes of inequalities in

income in India.

SRS ST PSR 05! R T 47 |

(e} Write the importance of industrialization
in the economic development of India.

SRed YT IS SN @y B |

(b)

(d)

- Answer any three of the following questions :
10x3=30

et il R e Fofbt emm Bwg oy

(@) Make an appraisal in the trend of the
growth of per capita income in India
during the plan period. Mention the
important causes of slow growth of per
capita income in India.
ARTEN IS SR SR WER R
TSR Fo 1 | Sred Tl R o g
ST FRPIZ TCHY 0 |

{ Turn QOver )



(4) |

(b) Discuss the impact of rapid growth of
population on the economic development
of India.

SR HAAST TS wo wepRan g
O HICEAT 4T |

(c) Explain the different factors responsible
for poverty in India. Write briefly the
various measures taken by the
Government to alleviate poverty. 5+5
ST TREOR A0 wRE Rew Tz
RUSHIEE NI NE SIS IS st i B I e

PR B¢ fosit |

(d) Discuss the important problems that
retard the requisite growth of agricultural
sector in India. Suggest five measures to
improve productivity of agriculture in
India.

ST FRAGY STRY Teere qu i 24
TPIPRR SICoA1 31 | R Seopmierel I
I #HTO5T TR R ST |

(e) Analyze the various reasons for the poor
performance of land reforms in India.

ST B FR IER wgented RIOA
PRPNZ R 4 |
() Critically discuss the role of small

enterprises in the industrial as well 25
economic development of India.

SR ST Wy WA T T
Wm.mﬂmwwwmmml

549
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